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1. A Venn diagram has three main categories. How many total groups can be formed from the three main categories?

A) 5			B) 6			C) 7			D) 8
2. A model has 15 different shirts, 8 different hats, and 10 different pairs of pants to choose from. How many different outfits of 1 shirt, 1 hat, and 1 pair of pants are possible?
A) 33			B) 99			C) 400			D) 1200
3. The probability that it will rain tomorrow in Georgia is 30%. The probability that it will rain tomorrow in both Georgia and Alaska is 12%.
If it rains tomorrow in Georgia, what is the probability that it will rain tomorrow in Alaska?
A) 12%		B) 18%		C) 32%		D) 40%
4. A bag contains equal numbers of red, blue, and yellow marbles. A student chooses a marble at random. What is the relationship between the probability that the marble is red and the probability that the marble is NOT red?
A)P(red)=P(not red) B) P(red) = • P(not red)   C) P(red) = P( not red) -1 D) P(red) = 1- P(not red)
5. A bag contains tiles that each have a letter on them. The letters spell the word ELEPHANT.A tile is chosen at random. What is the probability that the tile chosen has a vowel on it?
A) [image: https://gofar.gadoe.org/QB/Temp/5f1333b2-848a-4178-afa8-b534964715ba/Assessment/source/Content/images/i_gm1fa4015/gdoeimages/gm1fa4015_wg0.jpg]			B) [image: https://gofar.gadoe.org/QB/Temp/5f1333b2-848a-4178-afa8-b534964715ba/Assessment/source/Content/images/i_gm1fa4015/gdoeimages/gm1fa4015_wg1.jpg]			C) [image: https://gofar.gadoe.org/QB/Temp/5f1333b2-848a-4178-afa8-b534964715ba/Assessment/source/Content/images/i_gm1fa4015/gdoeimages/gm1fa4015_wg2.jpg]			D) [image: https://gofar.gadoe.org/QB/Temp/5f1333b2-848a-4178-afa8-b534964715ba/Assessment/source/Content/images/i_gm1fa4015/gdoeimages/gm1fa4015_wg3.jpg]
6. This spinner is divided into 12 congruent sections numbered 1 through 12.
[image: Description: ]
A student will spin the arrow on the spinner one time. What is the probability that the arrow will stop on a number that is a multiple of 3 or 4?
A) [image: https://gofar.gadoe.org/QB/Temp/99bdc043-4876-4334-81a5-3e97e7b88e60/Assessment/source/Content/images/i_gm1fa4016/gdoeimages/gm1fa4016_wg1.jpg]			B) [image: https://gofar.gadoe.org/QB/Temp/99bdc043-4876-4334-81a5-3e97e7b88e60/Assessment/source/Content/images/i_gm1fa4016/gdoeimages/gm1fa4016_wg2.jpg]			C) [image: https://gofar.gadoe.org/QB/Temp/99bdc043-4876-4334-81a5-3e97e7b88e60/Assessment/source/Content/images/i_gm1fa4016/gdoeimages/gm1fa4016_wg3.jpg]			D) [image: https://gofar.gadoe.org/QB/Temp/99bdc043-4876-4334-81a5-3e97e7b88e60/Assessment/source/Content/images/i_gm1fa4016/gdoeimages/gm1fa4016_wg4.jpg]
7. A high school cross-country team consists of 6 freshmen, 5 sophomores, 4 juniors, and 5 seniors. The coach randomly chooses one of the runners to hand out race numbers.
What is the probability that the chosen runner is a junior or senior?
A) 1/20			B) 1/5 			C) 1 / 4			D) 9 /20 
8. The freshman class is choosing representatives for a homecoming contest. The names of 6 girls and 6 boys are each written on a piece of paper. The pieces are placed in a bag. Two names are chosen at random. What is the prob. That one boy’s name and one girl’s are chosen?
     A ¼ 	 		B) 3/11 			C) 1/2 			D)6/11 


9. Which scenario represents a dependent situation?
A) Two coins are flipped by the same person.
B) Two marbles are taken from a bag at the same time.
C) Two number cubes are rolled at the same time and their face values are added together.
D) A colored paperclip is taken from a box, put back, and then a second paperclip is taken.
10. There are 4 blue tiles and 1 red tile in a bag. Two tiles are drawn from the bag at the same time. What is the probability that both tiles drawn are blue?
A)  1 / 5			B) 2 / 5			C) 3 / 5 		D) 4 / 5 
11. A drawer contains the following 9 pairs of socks:
            - 3 blue pairs, 2 black pairs and 3 white pairs
    Two pairs of socks are randomly selected from the drawer at the same time. What is the
   Probability that both pairs are white?
A) 1 / 6 	 		B) 16 / 81 			C)  59/ 72		D) 8 / 9 
13. This graph shows a set of data from a study of the nitrogen concentration in plants with multiple base stems.
[image: Description: ]
Which equation BEST fits the data in the graph?
A) y=0.38x+18.08  				B) y= - 0.38x+18.08   
C) y= 0.00058 x2+0.38x +18.08 		D) y= - 0.00058x2+0.38x+18.08
14.A student concludes from a set of experimental data that the relationship between the growth of a plant and the loss of water through its surface is modeled well by a quadratic function. Which graph MOST likely show the data from this experiment?
A) [image: Description: _opt_a01]B) [image: Description: _opt_b01]C) [image: Description: _opt_c01]D) [image: Description: _opt_d01]

15. A student measures the period of a simple pendulum using strings of different lengths. The student concludes that the data can best be modeled by an increasing linear function. Which graph could represent the student’s data?
A) [image: Description: _opt_a01]B) [image: Description: _opt_b01]C) [image: Description: _opt_c01]	D) [image: Description: _opt_d01]
16. These graphs show experimental data that relates the energy intake of infants to their age, in months. Which graph is MOST likely to be best modeled by a quadratic function?
	A)[image: Description: _opt_a01]B)[image: Description: _opt_b01]C)[image: Description: _opt_c01]) [image: Description: _opt_d01]



17. A researcher concludes from a set of experimental data that the relationship between the protein concentration of a plant and the plant's density is best modeled by a quadratic function.
	     
	Which graph BEST supports this conclusion?



A) [image: Description: _opt_a01]B)[image: Description: _opt_b01]C)[image: Description: _opt_c01]D[image: Description: _opt_d01]





18. This scatter plot shows the relationship between the length of some plant stems that are covered by lichen, and the mass of the lichen.
[image: Description: ]			
What is the approximate slope of the median-median line?
A) 0.23		B) 0.35		C) 0.64		D) 0.88
Constructed Response
1. Below fair number cubes are rolled and the products of the outcomes are determined. The table shows all possible outcomes for the products.
              [image: https://gofar.gadoe.org/QB/Temp/fef2bcf0-6046-49fd-8e1a-f2fbef75613b/Assessment/source/Content/images/MA14ERAG1530_1.jpg]
Part A
Based on the table, what is the probability that the product is greater than 10, given that a 6 lands face-up on the first number cube? Explain your work.



Part B
Based on the table, what is the probability that the product is even or a multiple of 5? Show your work.
2) A group of students participated in snow activities over winter break. The table shows the numbers of girls and boys and which type of snow activities they participated in.


[image: https://gofar.gadoe.org/QB/Temp/128449e0-254b-4497-b905-3fd17a063102/Assessment/source/Content/images/MA14SAAG1464_1.jpg]

What is the value of P ( Sn or G) ?

3) A business owner asked all 60 of her employees to put their names on cards for a prize drawing. She plans to randomly select one employee for the prize. The table shows the distribution of the employees by gender and age.


[image: https://gofar.gadoe.org/QB/Temp/d0450aa1-5865-4497-8880-3ec72f95fb69/Assessment/source/Content/images/MA14SAAG1479_1.jpg]

The following are events in this situation.

[image: https://gofar.gadoe.org/QB/Temp/d0450aa1-5865-4497-8880-3ec72f95fb69/Assessment/source/Content/images/equMA14SAAG1479_1.jpg]

Explain whether the events F and Y are independent.






2) The two-way frequency table shows data from a survey of students enrolled in science classes at Einstein College.


[image: https://gofar.gadoe.org/QB/Temp/861284b6-8a1b-438a-97db-edb27f816560/Assessment/source/Content/images/MHS13139_1.jpg]

Part A
Based on the model, how much more likely is it that a student chosen at random would be enrolled in General Science or Physics than Chemistry? Show your work or explain your answer.

Part B
using the data from the model, estimate the probability that a randomly selected student would be enrolled in Biology given that the student is in the 9th grade. Show your work or explain your answer.

Part C
According to the model, are the probability of a student enrolled in Chemistry and the probability of a student enrolled in 12th grade independent of each other? Justify your answer by showing or explaining your work.
3) The two-way frequency table shows information from a random sample of students about participation in school-sponsored activities and enrollment in foreign language classes.


[image: https://gofar.gadoe.org/QB/Temp/cd2d6358-ba73-407b-b7d2-505e2b93a6f5/Assessment/source/Content/images/MHS13157_1.jpg]

Part A
Copy and complete the two-way frequency table showing the data in the table and its marginal frequencies. Explain how you found your answers. Create a table showing the conditional probabilities by participation in school-sponsored activities and another table showing the conditional probabilities by enrollment in foreign language classes. Show your work and round the probabilities to the nearest hundredth. What trends are shown by the data?

Part B
There are 426 students in the school. The conditional probability that a female student participates in a school-sponsored activity is 0.80, and the conditional probability that a male student is enrolled in a mathematics class is 0.80. Are the two probabilities independent of each other? Explain your answer.
4) The total number of full-time and part-time employees at a store is 50. Each employee works either the morning shift or the afternoon shift. More information about the employees is given below.
· 15 employees are part-time
· 
· 28 employees are males
· 
· 30 employees work the morning shift
· 
· 6 male employees work part-time
· 
· 12 male employees work the morning shift
The names of each of the 50 employees are written on separate cards. The cards are shuffled and placed into a container.

Part A
If one card is selected at random from all 50 cards in the container, what is the probability that the employee is part-time or male? Show your work and explain your answer.

Part B
If one card is selected at random from all 50 cards in the container, what is the probability that the employee is male or works the afternoon shift? Show your work and explain your answer.

Part C
If one card is selected at random from all 50 cards in the container, what is the probability that the employee is a female who does not work the morning shift? Show your work and explain your answer.
5) A pharmaceutical lab conducts two studies. The researchers want to determine if their allergy medication stops eyes from itching.

In the first study, the researchers interview people who have complained of itchy eyes. The participants are divided into two groups, those using the allergy medication and those not using it.

In the second study, the researchers recruit people who suffer from allergies that cause itchy eyes. Participants are assigned to Group A or Group B at random and do not know which group they are in. Group A receives the allergy medication and Group B receives a placebo. The researchers record the reduction of eye itchiness in each group after one treatment.

Part A
Is the data-gathering process described in the first study an observational study, an experiment, or a sample survey? What is an advantage to this data-gathering process? Explain your answer.

Part B
Is the data-gathering process described in the second study an observational study, an experiment, or a sample survey? Why is random selection important in this data-gathering process? Explain your answer.

Part C
Group A has 40 members, and Group B has 25 members. The table shows the results of the second study.


[image: https://gofar.gadoe.org/QB/Temp/b530feae-e2e9-4ceb-9a60-d22bfa57afd1/Assessment/source/Content/images/MHS13192_1.jpg]

Does the medication being tested appear to reduce the occurrence of itchy eyes? Justify your conclusion.
6) Two competing airlines offer commuter flights from Los Angeles to Catalina Island. The table represents one year of data for flights at both airlines.


[image: https://gofar.gadoe.org/QB/Temp/73fe21ad-3989-4c0a-aabd-481241e1cf68/Assessment/source/Content/images/MHS13206_1.jpg]

Part A
Calculate the on-time rate for all flights for both airlines over the past year.

Part B
Calculate the on-time rate for Airline A. Calculate the on-time rate for Airline B. Show your work.

Compare the two airlines. Which airline would you choose to fly to Catalina if your main concern is being on time? Explain your answer.

Part C
What proportion of delayed flights was Airline A responsible for? What proportion of on-time flights was Airline B responsible for? Show your work.

Part D
The on-time rate for flights at Airline B has been charted for prior years.


[image: https://gofar.gadoe.org/QB/Temp/73fe21ad-3989-4c0a-aabd-481241e1cf68/Assessment/source/Content/images/MHS13206_2.jpg]

Identify the trend in the data. Based on the on-time rate that you calculated for this year, predict what will happen to the on-time rate in upcoming years.
6) One hundred high school students were asked which type of music, limited to rock and country, they like to listen to. The results of the survey will be displayed in the two-way table shown.


[image: https://gofar.gadoe.org/QB/Temp/5df42095-2cb7-46ed-9faf-675540467e91/Assessment/source/Content/images/MHS13212_1.jpg]

The survey showed that 50 students like both rock music and country music, 31 do not like either rock or country music, 12 like rock music but do not like country music and 7 like country music but do not like rock music.

Part A
Copy the table onto your paper and record the data given in the table. Then complete the table by filling in the marginal frequencies.

Part B
Is there evidence of a positive association between liking rock music and liking country music? Explain your answer.

Part C
Suppose you interview another student from the population represented by this sample, and that student does not like country music. Based on the sample, what is the probability that this student does like rock music? Explain your answer.
7) The director of a community recreation center would like to increase the number of teens who participate in summer programs. She creates a questionnaire to gather data about the types of programs that teens in the community like. The community has approximately 2,000 teens, but the director’s funds are limited. She has decided to give the questionnaire to 50 teens and then draw conclusions from the results.

Part A
Is the data-gathering process described part of an observational study, an experiment, or a sample survey? Explain your answer.

Part B
Suppose that the director gives the 50 questionnaires to the first 50 teenage boys who show up for the boys’ soccer tournament. Is her selection of teens a good one statistically? Explain your answer.

Part C
Suppose that the director is given permission to distribute the questionnaires to students at the community’s only high school since almost all of the local teens attend that school. She selects 50 students at random from the list of all students and gives them the questionnaire. Is her selection of teens a good one statistically? Explain your answer.

Part D
If the director uses the method of data-gathering in Part C, describe a method she could use to ensure that the students are selected at random. Why is random selection important in this process?
8) The dot plot shows Kim’s quiz scores for last semester. The maximum score on each quiz is 10.

            [image: https://gofar.gadoe.org/QB/Temp/bb134456-2d7c-4726-98a4-6199bd622ffc/Assessment/source/Content/images/i_mhs12125/mhs12125_1.jpg]


The table shows Kim’s quiz scores for this semester.

            [image: https://gofar.gadoe.org/QB/Temp/bb134456-2d7c-4726-98a4-6199bd622ffc/Assessment/source/Content/images/i_mhs12125/mhs12125_2.jpg]


Part A
Create a dot plot for Kim’s quiz scores for this semester.

Part B
What is the difference between the means of the two data sets? Show your work.

Part C
Kim takes two more quizzes this semester. The mean for this semester’s quiz scores decreases by 1 from what is shown in the table. What could be Kim’s scores on these two quizzes? Show your work or explain your answer.
9) The two-way frequency table shows the adoption data for an animal shelter for the first five months of a year.

            [image: https://gofar.gadoe.org/QB/Temp/7bbed9e3-f397-4a21-8e25-1301416d4965/Assessment/source/Content/images/i_mhs12126/mhs12126_1.jpg]


Part A
What is the difference between the interquartile ranges of the number of cats adopted and the number of dogs adopted during the first five months? Show your work or explain your answer.

Part B
Create a conditional relative frequency table for this data. Explain the values you used in your table.
10) The table shows the amounts Anita earned for babysitting.

            [image: https://gofar.gadoe.org/QB/Temp/99bc3e6e-6c8b-415e-bafd-87a927f44ae5/Assessment/source/Content/images/i_mhs12127/mhs12127_1.jpg]


Part A
A linear model for the data is [image: https://gofar.gadoe.org/QB/Temp/99bc3e6e-6c8b-415e-bafd-87a927f44ae5/Assessment/source/Content/images/i_mhs12127/equmhs12127_1.jpg]What do the slope and y -intercept of the linear model represent in the context of the given data?

Part B
Analyze the residuals for the data shown in the table. Show your work and explain your answer.
12) Jeff collected information from 100 cities in the United States. He plotted the average monthly temperature for September ( x ) and the total number of inches of rainfall in September ( y). Using his calculator, Jeff determined the equation for a line of best fit. The correlation coefficient for his data is [image: https://gofar.gadoe.org/QB/Temp/69b373d2-21b3-4443-a48c-fb20fcee6a47/Assessment/source/Content/images/i_mhs12147/equmhs12147_1.jpg]

Part A
What information does the correlation coefficient give about the strength of the linear relationship between temperature and rainfall? Explain your answer.

Part B
How useful is Jeff’s line of best fit for predicting rainfall from temperature? Explain your answer.

Part C
Jeff switched the x and y values for all of the ordered pairs of his original data and plotted the results. How does the r of this new data set compare with his original r? Explain how you know.

Part D
After Jeff switched the x and y values for the original data and plotted the results, is the line of best fit of this new data set the same as his original line of best fit? Explain how you know.
13) A car dealer summarizes his business by recording the number of customers who purchased or leased cars. He also records the size of the car (small, midsize, and full-size). The table shows his summary for one week.

            [image: https://gofar.gadoe.org/QB/Temp/8b939b4f-4dc3-4caa-8b83-2226a93e95c6/Assessment/source/Content/images/i_mhs12148/mhs12148_1.jpg]


Part A
Regardless of whether a customer purchased or leased a car, which size was most preferred? Justify your answer using the information in the table.

Part B
Of the people who purchased a car, what trend (in terms of car size) appears to be true for that week? Explain your reasoning.

Part C
What association do you see between the type of sale (purchased or leased) and the size of the car? Justify your answer using the information in the table.
14) Several students completed a paper-and-pencil maze multiple times in an experiment. Their times, in seconds ( y ), were plotted against the number of previous attempts they had made ( x ) in a scatter plot as shown.

            [image: https://gofar.gadoe.org/QB/Temp/7a540ccb-da5d-44e0-b57b-ec6ed129e726/Assessment/source/Content/images/i_mhs12149/mhs12149_1.jpg]


A linear model that describes the data is given by the equation [image: https://gofar.gadoe.org/QB/Temp/7a540ccb-da5d-44e0-b57b-ec6ed129e726/Assessment/source/Content/images/i_mhs12149/equmhs12149_1.jpg]

Part A
Interpret the slope of the line in terms of the context.

Part B
Determine the y -intercept of the line. Explain what the y -intercept represents in terms of the context.

Part C
Determine the x -intercept of the line. What is the significance of the x -intercept in terms of the context? Explain your answer.
14) Jelena is considering buying a used car from two different dealerships. The list shows the prices of the cars Jelena is considering buying from Dealership A.

            [image: https://gofar.gadoe.org/QB/Temp/e797a9ee-9c90-4df1-93e2-a950a516d0d4/Assessment/source/Content/images/i_mhs12218/equmhs12218_1.jpg]


The box plot displays the prices of the 7 cars Jelena is considering buying from Dealership B.

            [image: https://gofar.gadoe.org/QB/Temp/e797a9ee-9c90-4df1-93e2-a950a516d0d4/Assessment/source/Content/images/i_mhs12218/mhs12218_1.jpg]


Part A
Draw a box plot to represent the prices of the cars Jelena is considering buying from Dealership A.

Part B
What is the difference in the interquartile ranges of the two data sets? Show your work.

Part C
For which dealership is the mean of the prices of the cars that Jelena is considering buying greater? Explain your answer.

Part D
What is the median car price for each dealership? Compare the medians and means for each dealership. Which best represents the prices at each dealership, the mean or the median? Explain your answer.
15) The table shows the number of bacteria in a culture at different times during an experiment.

            [image: https://gofar.gadoe.org/QB/Temp/2978607b-6ead-4a18-bc4d-77f83a682f0a/Assessment/source/Content/images/i_mhs12219/mhs12219_1.jpg]


Part A
What was the number of bacteria at the beginning of the experiment? Show your work or explain your answer.

Part B
Write an exponential equation that fits the data for n , the number of bacteria, in terms of h , the number of hours since the experiment began.

Part C
Use your equation from Part B to find the number of bacteria 4 hours after the experiment began. Show your work.

Part D
Sketch a graph of the equation that represents the data for the first 4 hours of the experiment. Label the scales for both axes. Include an appropriate title for the graph and for each axis.
15) The scatter plot shows Grace’s distance, in miles, from her destination at the end of each hour during her car trip.

            [image: https://gofar.gadoe.org/QB/Temp/0a8f1366-290b-4079-a736-920237772626/Assessment/source/Content/images/i_mhs12220/mhs12220_1.jpg]


Part A
Write a linear function that fits the data shown in the scatter plot. Explain how you determined your function.

Part B
Identify and interpret the slope, x -intercept, and y -intercept of the linear function in the context of the situation.

Part C
Define the domain of the function that best fits this situation. Explain your answer.
16) Incoming freshmen at a community college can take a placement test to determine if they are eligible for a college Calculus class. A student needs to score 50 or more points to enroll in Calculus I. Students scoring less than 50 points must enroll in a Pre-Calculus course first. The box plots show the data collected from the scores of 24 females and 24 males who took a recent placement test.

            [image: https://gofar.gadoe.org/QB/Temp/d3a5e4bf-fa32-43a8-ae09-399cbdd72a17/Assessment/source/Content/images/i_mhs12231/mhs12231_1.jpg]


Part A
Is the interquartile range (IQR) for females greater, less, or equal to that of males? Explain your answer.

Part B
Estimate the median score for females and the median score for males. Justify your estimates.

Part C
Use the shape of the distribution to estimate the mean score for females. Explain your answer.

Part D
Use the shape of the distribution to estimate the mean score for males. Explain your answer.

Part E
One of the 48 students selected at random is eligible to enroll in Calculus I based on the student’s score. What is the probability that the randomly-selected student is a male? Explain your reasoning.
17) A distribution of the weekly earnings, in dollars, of students in a statistics class is shown in the histogram.

            [image: https://gofar.gadoe.org/QB/Temp/422c837a-f782-4690-ad5e-1065e025454d/Assessment/source/Content/images/i_mhs12234/mhs12234_1.jpg]


Part A
In which interval is the median of this distribution located? Explain your answer.

Part B
If the data set is graphed as a box-and-whisker plot, describe how the upper and lower whiskers would compare with each other.

Part C
One of the students made a dot plot of this data set. Explain what information a dot plot would provide that is not provided by the histogram.

Part D
One of the students was absent the day the data was collected, and his weekly salary of $200 is added to the data set. Explain what effect, if any, this new data point has on the median.
18) Garret sells laptop and desktop computers. He asks his customers what the computer will be primarily used for-school, home, or work. The table shows Garret's yearly summary giving the proportion of each type of computer he sold and its primary use.


[image: https://gofar.gadoe.org/QB/Temp/0b251b3b-048b-4856-9f39-940830397fa8/Assessment/source/Content/images/MA14ERAG1518_1.jpg]

Part A
What proportion of Garret's sales are computers primarily used for school or work? Show your work and explain your answer.

Part B
Consider the following two situations:

· A customer buys a computer from Garret for work.
· 
· A customer buys a desktop computer from Garret.
Based on the data in the table, which of the two situations is most likely to occur? Show your work and explain your answer.

Part C
If Garret randomly selects a customer from those who purchased a desktop computer, what is the probability the customer uses the computer primarily for work? Show your work and explain your answer.

Part D
If Garret randomly selects a customer from those who purchased a computer primarily for school, what is the probability the customer bought a laptop? Show your work and explain your answer.
19) The graph shows the data the students in a botany class recorded for the height of a plant over several days.


[image: https://gofar.gadoe.org/QB/Temp/99686598-5d69-40a6-b25a-12b208cb317a/Assessment/source/Content/images/MA14PTAG1541_1.jpg]

The students were instructed to fit a function h to describe the height of the plant after t days. The teacher informed the class to use the point [image: https://gofar.gadoe.org/QB/Temp/99686598-5d69-40a6-b25a-12b208cb317a/Assessment/source/Content/images/equMA14PTAG1541_1.jpg]and one other point to create their function. The students were also instructed to assume that the plant kept growing as the graph indicated for the next two days.

Part A
A student used point [image: https://gofar.gadoe.org/QB/Temp/99686598-5d69-40a6-b25a-12b208cb317a/Assessment/source/Content/images/equMA14PTAG1541_2.jpg]and point [image: https://gofar.gadoe.org/QB/Temp/99686598-5d69-40a6-b25a-12b208cb317a/Assessment/source/Content/images/equMA14PTAG1541_3.jpg]to write a linear function to fit the data. Write the equation of that function. Show and explain your work.

Part B
Another student used point [image: https://gofar.gadoe.org/QB/Temp/99686598-5d69-40a6-b25a-12b208cb317a/Assessment/source/Content/images/equMA14PTAG1541_4.jpg]as the vertex of a parabola that contained the point [image: https://gofar.gadoe.org/QB/Temp/99686598-5d69-40a6-b25a-12b208cb317a/Assessment/source/Content/images/equMA14PTAG1541_5.jpg]to write a quadratic function to fit the data. Write the equation of the quadratic function. Show and explain your work.

Part C
Use the functions from Part A and from Part B to determine the projected height of the plant after 32 days for each function. Show and explain your work.

Part D
Based on your results in Part C, which function better fits the data? Explain your answer.
20) The two-way frequency table shows survey results for how many hours students at a high school worked on average each week last summer by grade.


[image: https://gofar.gadoe.org/QB/Temp/cfb54100-1ade-43ce-ab14-ba1ec137b156/Assessment/source/Content/images/MA14SAAG1449_1.jpg]

What is the difference between the probability that a junior worked an average of 10 to 19 hours each week and the probability that a freshman worked an average of 20 to 29 hours each week? Round your answer to the nearest hundredth.
21) Consider the given Venn diagram.
[image: https://gofar.gadoe.org/QB/Temp/e47904e1-2f84-4b92-b182-7c96900b56e9/Assessment/source/Content/images/MA14SAAG1462_1.jpg]

What is [image: https://gofar.gadoe.org/QB/Temp/e47904e1-2f84-4b92-b182-7c96900b56e9/Assessment/source/Content/images/equMA14SAAG1462_1.jpg]





22) The board of directors of a large aviation museum wanted to find ways to increase the donations made to the museum. They wondered whether having patriotic music playing in the background would affect the generosity of visitors.

· The days were selected at random.
· 
· Patriotic music was played during 30 out of 60 days.
· 
· At the end of the experiment the daily donation totals were compared.
The table shows the results of the experiment.


[image: https://gofar.gadoe.org/QB/Temp/bb9254b7-053e-4d5b-9719-838219e3c20b/Assessment/source/Content/images/MA14ERAA1683_1.jpg]

Part A
What kind of study was this? Why was it necessary to select the days randomly? Give an example to support your answer.

Part B
Compare the center and spread of the two data sets. What does this information tell you about the daily donations?

Part C
Based on the data, what recommendations would you give the board of directors? Justify your answer.

Part D
What additional information would a graph of the data give about the situation?
23)  Question Preview
Close
Two groups in a class took the same quiz. The results of each group are shown.
[image: https://gofar.gadoe.org/QB/Temp/7d1d0710-c43b-4d3b-be73-40c89b996552/Assessment/source/Content/images/MA14SAAA1597_1.jpg]

The difference between the interquartile ranges of the two groups is 7.5. Write an equation that can be used to find x, the first quartile of Group B.
24) The table shows the number of pre-owned vehicles at an auto dealership that went through a safety inspection.


[image: https://gofar.gadoe.org/QB/Temp/36098b29-d1f1-4cd7-a8b4-e5ce0c9dac0f/Assessment/source/Content/images/MA14SAAA1633_1.jpg]

The manager stated, “More trucks than cars passed the safety inspection.” Write a statement, using the data from the table, which would more accurately compare the results of the safety inspection.



56) Beth made the following pie graph to represent her monthly budget.
[image: https://gofar.gadoe.org/QB/Temp/eb690b2e-fcaf-429b-b67c-3800482ad985/Assessment/source/Content/gdoeimages/mimataa030206_wg0.jpg]
	    
	What percentage of her budget does she spend on her rent and car combined?


A) 50% 		B) 72%		C) 90%		D) 180%
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